
INSTALLATION
INSTRUCTIONS

The following booklet features installation 
instructions for our new JT40 Fusion shower 
tray for both fl at to fl oor installation and raised 
installation using MerlinTM technology.

MADE IN THE UNITED KINGDOM

Just Trays Ltd    
Whitehall Ind. Est.
Ashfi eld Way
Farnley
Leeds
LS12 5JB

Tel: 0844 257 7253

Fax: 0113 201 5099

Email: info@just-trays.co.uk

just-trays.co.uk

As our products are continually updated all details are subject to change without 
prior notice. The photographs included are for general guidance only and colours 
are limited to the restraints of the printing process. E&OE.

INSTALLATION
INSTRUCTIONS

CHECKLIST
1.  Check enclosure dimensions are compatible with 

the shower tray.

2.   Check for any transit damage or product defects

PLEASE NOTE: these procedures should be carried 
out prior to installation.

Fitting the product is acceptance of quality.

All guarantees are void unless these instructions 

are followed.

STEAM CABINS
PLEASE NOTE: when installing this product in 
conjunction with a steam unit ensure that the 
steam outlet is at a minimum height of 300mm 

from the top of the tray.

SUNKEN FLOOR INSTALLATION
1.  Cut fl ooring, allowing clearance on width and 

length of tray to enable tray to slot into the gap.

2.  Ensure the joists are adapted to give complete 
support to the shower tray.

3.  Install as per fl at to fl oor installation.

MAINTENANCE
As good as new fi nish can be maintained by 
following these guidelines:

1.  Dry out the tray fully after every use to avoid 
the build up of limescale and soap residue.

2.  Clean the shower tray regularly with a damp 
cloth or sponge followed by a soft dry cloth.

3.  Occasionally use a none abrasive cleaner to 

remove any stubborn stains.

MERLIN
TM

 PANEL KIT CONTENTS

RAISED INSTALLATION USING
MERLIN® TECHNOLOGY

ONE TRAY - TWO OPTIONS

OR

FLAT TO FLOOR INSTALLATION

PANEL KITS 1, 2 & 3
8 x Leg riser kit

8 x  Base feet
Featuring a square web and holes 
for 6mm panel rods.

8 x Floor feet

8 x M12 screwed bars

16 x M12 half nuts

5 x M6 screwed bars

10 x M6 nuts

7 x Panel holders

9 x Double sided adhesive strips

2 x Free form panel holders

24 x ¾ Inch size 10 Self tapping screws

8 x Floor fi xing clips

PANEL KIT 4
10 x Leg riser kit

10 x  Base feet
Featuring a square web and holes 
for 6mm panel rods.

10 x Floor feet

10 x M12 screwed bars

20 x M12 half nuts

6 x M6 screwed bars

12 x M6 nuts

7 x Panel holders

9 x Double sided adhesive strips

2 x Free form panel holders

30 x ¾ Inch size 10 Self tapping screws

8 x Floor fi xing clips

CUSTOMER 25 YEAR GUARANTEE
Just Trays Ltd guarantees all JT40 FUSION™ products against faulty materials or 
manufacture for a period of 25 years from date of installation provided that it 
has been installed, used and maintained in accordance with the manufacturers 
instructions. If in our opinion the product fails under those conditions, Just Trays 
Ltd will undertake to repair or replace the product at our option. Should a claim 
arise, we request that the following conditions be satisfi ed.
1. Proof of purchase at the time of claim. 2. The product has been fi tted/installed 
in accordance with our fi xing instructions, local by laws and general good plumbing 
practice. 3. The product has been maintained and cared for in accordance with 
our instructions. If in our opinion the product has been modifi ed, misused, 
neglected, wilfully or accidentally damaged, we can accept no responsibility for 
failure. 4. Just Trays Ltd, must be given the opportunity to inspect the product in 
the installed condition.
Should Just Trays Ltd carry out work as a result of a claim but subsequently it is 
revealed that the product has been abused or improperly installed, we reserve the 
right to charge the customer for all expenses incurred. The liability of Just Trays 
Ltd is limited to the product supplied by Just Trays Ltd, and does not extend to 
consequential loss or damage arising from the defective product. All aftersales 
enquiries must be directed to the stockist where the product was purchased. 
Just Trays Ltd believes in continuous improvement. If in our opinion the product 
has failed under the terms of the guarantee and a replacement is offered but 
identical goods are no longer available Just Trays Ltd will replace it with our nearest 
equivalent product. This guarantee, which is effective for products purchased after 
September 2009 states our entire liability and is offered to customers acquiring 
our products as consumers, not in the course of trade or business. This guarantee 
does not affect your statutory rights. This guarantee is only applicable in the UK 
and Republic of Ireland.

JT40 FUSION
®

COMBINING TECHNOLOGY WITH DESIGN

JT40 FUSION
®

COMBINING TECHNOLOGY WITH DESIGN

JT40 FUSION
®

COMBINING TECHNOLOGY WITH DESIGN

10645 • JT40 FUSION INSTAL GUIDE_8pg 2010.indd   110645 • JT40 FUSION INSTAL GUIDE_8pg 2010.indd   1 04/03/2010   16:4304/03/2010   16:43



Prepare a rigid base of 
10mm marine plywood, 
incorporating a suitable 
recess or cut out for the 
waste and fi x to fl oor 
ensuring that the fi nished 
base is level and free of 
debris.

Seal joints between tray 
and wall with an anti fungi 
silicone sealant and allow 
to set, cover the tray with 
a soft dust sheet. 

Ensure that the location 
of the shower tray is 
level and free of all debris 
before commencing 
installation

Cover the marine ply base 
with a 15mm depth of 
weak cement mix (sand / 
cement ratio 5:1).

When shower tray is set 
remove the remainder 
of the protective fi lm, 
connect the waste pipe 
and check for leakage.

Tile and seal joints with an 
anti fungi silicone sealant 
and allow to set.

RAISED INSTALLATION

FLAT TO FLOOR INSTALLATION

Place the shower tray with 
the fi tted waste onto the 
cement bed and apply 
gentle pressure with the 
base of the hand to force 
the tray into position then 
fi nally level the tray and 
allow to set.

1

1

3

3

5

5

10

Remove  protective coating 
only from the immediate area’s 
surrounding the waste and 
those sides of the tray which 
will be against a wall. Fit the 
waste using manufacturers 
instructions. 

7

7

2

2

6

6

12

8

8

9

COMBINING TECHNOLOGY WITH DESIGN

4

4

WE RECOMMEND 
THAT YOU USE A 

JT40 WASTE. 

Lay the tray in position 
on the prepared fl oor and 
scribe a pencil line around 
the outside edge as in FIG 
1 to mark the position of 
the tray, this will form the 
guide for the fl oor clips. 

Ensure that the panel 
fi xing holes are located at 
90° to the edge of the tray 
as shown in FIG 4.

Screw down the fl oor 
fi xing clips so that the 
edge of the clip is in line 
with pencil line made in 
FIG 1. Use all the clips 
provided and spread them 
equi-distant along both 
open sides of the tray. 

Turn the tray over and 
level both ways. When 
level fi x the inaccessible 
legs with silicon sealer or 
no nails type of adhesive. 
Do not fi x the central 
leg at this point. Screw 
the accessible legs to 
the fl oor, then adjust the 
central leg so that it forms 
a stabilising point.

Mark the length of panel 
required for both edges 
and cut with a junior or 
standard hacksaw. 

Please note on square and 
rectangle trays one length 
of panel has a return 
rebated end. Ensure that 
this end is included in the 
length required. Do not cut 
off and discard. 

Turn the tray over, Note 
the raised circles in the 
base of the tray FIG 2, 
these are the feet location 
points and the feet must 
be fi tted to these points 
and ONLY these points 
since they have been 
strategically placed to 
eradicate any fl exing 
within the shower tray.

Fit the panel fi xing rods, 
using a level. Ensure the 
face of the panel holder 
is lined up with outside 
edge of the tray as shown 
in FIG 5. 

Your shower tray raiser kit 
is now complete. Finish 
the installation of the tray 
as per shower tray fi tting 
instruction point 8.

Screw the feet in position 
with the screws provided, 
if any are lost or missing 
use only the same size 
screws as those provided, 
¾ inch size 10 self tapping 
screw. Do not over tighten.  
Ensure you are using the 
correct foot that features 
the square web and holes 
for panel rods.

When all feet have been 
fi tted level them up so 
that the base of the foot 
measures 95mm from the 
underside edge of the 
outside wall of tray. 

just-trays.co.uk

11
Fix the double-sided 
adhesive pads provided 
to the face of the panel 
holders.

Fix the panels starting 
with the end panel or in 
the case of squares the 
panel with the rebated end 
by pushing fi rmly under 
the fl oor clips, then on to 
the adhesive pads and fi x 
the front panel.

10645 • JT40 FUSION INSTAL GUIDE_8pg 2010.indd   210645 • JT40 FUSION INSTAL GUIDE_8pg 2010.indd   2 04/03/2010   16:4304/03/2010   16:43



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (Adobe RGB \0501998\051)
  /CalCMYKProfile (None)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket true
  /DefaultRenderingIntent /Default
  /DetectBlends false
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 2400
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 3.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /PDFX1a:2001
  ]
  /PDFX1aCheck true
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox false
  /PDFXBleedBoxToTrimBoxOffset [
    3.00000
    3.00000
    3.00000
    3.00000
  ]
  /PDFXOutputIntentProfile (ISO Web Coated)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile true
  /Description <<
    /CHS <>
    /CHT <>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF che devono essere conformi o verificati in base a PDF/X-1a:2001, uno standard ISO per lo scambio di contenuto grafico. Per ulteriori informazioni sulla creazione di documenti PDF compatibili con PDF/X-1a, consultare la Guida dell'utente di Acrobat. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 4.0 e versioni successive.)
    /JPN <>
    /KOR <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die moeten worden gecontroleerd of moeten voldoen aan PDF/X-1a:2001, een ISO-standaard voor het uitwisselen van grafische gegevens. Raadpleeg de gebruikershandleiding van Acrobat voor meer informatie over het maken van PDF-documenten die compatibel zijn met PDF/X-1a. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 4.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents that are to be checked or must conform to PDF/X-1a:2001, an ISO standard for graphic content exchange.  For more information on creating PDF/X-1a compliant PDF documents, please refer to the Acrobat User Guide.  Created PDF documents can be opened with Acrobat and Adobe Reader 4.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /HighResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


